Math 1116, Quiz #9, Fall 2014 Name KEY

Instructions: Show all work. Answer each question as completely as possible. Use exact values. For
counting problems you may use scientific notation (with three significant figures) for any numbers larger
than a million.

1. Apportion 175 seats using Webster’s Method by completing the table below.

State Population St;:::;d 12 9 Apm:ir;a;ment
Samia 9009 b 03 s| S |
Ternium 5912 3% 26 23 2
Ullios 6954 29,12 39 39
Vortiex 4362 ey 25 g

Woosiel - 4871

Z%+.40 27 29
Total 31,108 @ s

Standard

Divisar '??%

2. Apportion 200 seats using Huntington-Hill's Method by completing the table below.
State Population Standar‘

Quota L& W& m Appo:tiir::‘:ment
s5299 ST 8 5L4R SR
22.007 33 29 3349%,% 33
44770000 A4 4S 44.49¥ 45
23044 RE H A8, 4956 2
336 3L 3| 349, 3l
Total 3), 10% 192 oo

Standard

Divisor l 35 . L;Lf

Samia 9009

Ternium 5912

Ullias 6954

Vortiex 4362

Woosiel 4871



